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1.1  Referring to project management, what are quantitative measures of selected aspects of the process or the
system?
(A) Software code inspections (B) Software metrics (C) Software milestones (D) Software project

reviews

1.2 In the systems analysis phase, which one of the following is a good means of solidifying uncertain
requirements? ‘
(A) Prototyping (B) Information engineering (C) Structured programming (D) Inheritance

1.3 Inthe systems analysis phase, what is the graphical model that has proven to be quite valuable for
modeling processes?

(A) ERD (B) DED (C) CRC (D) Class Diagram

1.4 In object-oriented modeling, a particular sequence diagram documents the information flow within

(A) an object (B) a subsystem (C) a single use case (D) a set of use cases

1.5  In structured design, one main principle is that program modules should be designed that each module
accomplishes one clear task. What is the main principle?
(A) Loosely coupled (B) Tight coupled (C) Low cohesive (D) Highly cohesive

1.6 In UML, classes are depicted by boxes compbsed. of three compartments - the top, the center and the
bottom compartment. What is displayed in the center compartment?

(A) Name (B) Message (C) Operations (D) Attributes
1.7 Concurrency control can be a DBMS feature that is used to coordinate the simultaneous execution of
transactions in a multiprocessing database system while preserving -
(A) consistency (B) independence (C) fragmentation (D) integrity
1.8 In the conceptual design stage, what will be done to reduce data redundancies?
(A) E-R modeling (B) Data analysis (C) Data model verification (D) Normalization

1.9 is the database access middleware developed by Microsoft to provide a middleware API
to Windows applications.

(A) Open DataBase Connectivity (ODBC) (B) Information resource manager (IRM) (C) Online
analytical processing (OLAP) (D) Object-oriented database matiagement system (OODBMS)
1.10 Referring to normalization in database, a table is in second normal form if it is in INF and it includes no

(A) partial dependencies (B) repeating groups (C) transitive dependencies (D) non-candidate key
determinants

1.11 In SQL, you use the WHERE clause to indicate that is used to link the tables.

(A) the common primary key (B) the common tuple (C) the common attribute (D) the common foreign
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Referring to database, is a condition in which different versions of the same data yield
different results.

(A) data integrity (B) data dependence (C) data inconsistency (D) data fragmentation

TR T TRRHERIZR (Process Control Block, PCB)SRE (TR (process) « L) Unix B » ST
I — & AT G R T ?

(AVTREBITHFR (B) {S%f(signals) (C) CPU RUBISET/F 23S (D) BRI EE
BRI » TS BEAIRA/NRRITE ERE ?

(A) track > cylinder > sector > cluster (B)cylinder > track > cluster > sector (C) track > cylinder >
cluster > sector (D) cylinder > cluster> track > sector

B REEGI 2B (dynamic linking library)S2#8HE;8 5K URE (static linking library)BAiAELEL#S » 5
{AIEIERE 7

(A) EREIRERBEMTEXSITRER (B) ﬁ%mﬁﬁﬁ@ftﬁmﬂ’ﬁ%‘ti’“ﬁﬁéﬁﬁﬁ © g
REBUE TR TE AT AR ZER (D) M B E

B2 M {ETTHE (process)[# B mutual exclusion I —FE RS & 551 SR BAE oF critical section
RIBERM ? (2%)
IR IR BT IRETEAE 2 (4%)
I — ] — A R ? SERRIAREIIERE o (4%)

beginning section beginning section
flag[0]=1 flag{0]=1
WHILE (flag[1]==1) turn=1

DO nothing WHILE (ﬂag[1]==1) AND (turn==1))

ENDWHILE DO nothing

Critical section ENDWHILE
flag[0}=0 ‘ Critical section

remainder section flag[0]=0

remainder section
& —
& —

=~ (DfA[FES EsEiR (page fault) ? (2%)

OFERRMANTEENDEHEER 7 2%)
QrERARAES IR (FERERME RS BRI IS5 © (4%)
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(1) Allows a process to add synchronization point to a stream of data
(2) Flow control
(3) Interface to transmission media
(4) Defines frames
(5) Provides independence from differences in data representation
(6) Communicates directly with user’s application program
(7) Route determination ' S
(8) Reliable process-to-process message delivery
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6.1 (5%) When should “downcast” be explicitly used to avoid run-time error in Java? [single or multiple
choices]
A. When accessing the method of the superclass.
B.  When accessing the method of the subclass.
C. When accessing the attribute of the superclass.
D. When accessing the attribute of the subclass.
E. None of the above.

6.2 (5%) What are the most important four “P*”’s in project management? [single choice]
A.  Productivity, People, Project, Process.
B. Product, People, Project, Process.
C.  Product, People, Project, Plan.
D. Productivity, People, Project, Progress.

6.3 (5%) Choose correct answers regarding interface and abstract class in Java. [single or multiple choices]
They are the same.

Both can have constants as their attributes.

Abstract class is used in Java to realize multiple inheritance.

Interface cannot define any method implementation, but abstract class can.
To have any instance of their type instantiated, they both need other class(es).

Mo Ow»

6.4 (10 points) The following code is all in one file “Tent.java”. Please identify the output of its execution
from answers (a) to (e).

// begin of Tent.java
class Equipment {
String equipmentName;
Equipment () {System.out.println("Equipment()");)
Equipment (String name) {
equipmentName = name;
System.out.println("Equipment ("+equipmentName+") ") ;
}
}
class LivingSpace {
Equipment u;
LivingSpace() {
System.out.printlin("Meal()"):
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}
LivingSpace (String equipmentName) {
System.out.println("equipment name = " + equipmentName);
u = new Equipment (equipmentName) ;
System.out.println("LivingSpace ("+equipmentName+") ") ;
}
}
class Chair{ .
Chair() {System.out.println("Chair()");}
}
class Desk{
Desk () (System.out.println("Desk()");)
}
class Stool{
Stool () (System.out.println("Stool()");}
}
class Sofa {
Sofa() {System.out.println("Sofa()"):}
}

class House extends LivingSpace {

House () {
super ("anEquipmentForHouse") ;

" System.out.println("House ()");

)

House (String equipmentName) |
super (equipmentName) ; .
System.out.println("House ("+equipmentName+") "),

) N . f

) B

class PortableHouse extends Housef
PortableHouse () {

super ("anEquipmentForPortableHouse") ;
System.out.println("PortableHouse ()");

}

PortableHouse (String equipmentName) {
super (equipmentName) ;
System.out.println("PortableHouse ("+equipmentName+ ")");

}

}

public class Tent extends PortableHouse {(

Chair b = new Chair();
Desk c;
Stool 1 = new Stool();
Sofa t = new Sofa();
Tent () |
System.out.println("Tent()");
}
Tent (String eqguipmentName) {
super. () ;
System.out.println("Tent (" +equipmentName+ ")");
}
public static void main(String[] args) {
System.out.println("Begin");
Tent y = new Tent ("smallEquipment");
System.ocut.println("End"); |}
) )
// end of Tent.java
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Possible output:
(a)

Begin
End

(b)

Begin

equipment name = anEquipmentForPortableHouse
Equipment {anEquipmentForPortableHouse)
LivingSpace (anEquipmentForPortableHouse)
House {anEquipmentForPortableHouse)
PortableHouse ()

Chair ()

Desk ()

Stool ()

Sofal()

Tent ()
End

(c)
Begin
equipment name = anEquipmentForPortableHouse
Equipment (anEquipmentForPortableHouse)
LivingSpace (anEquipmentForPortableHouse)
House (anEquipmentForPortableHouse)
PortableHouse ()

Chair ()

Desk ()

Stool ()

Sofa ()

Tent (smallEquipment)

End

(d)

Begin

equipment name = anEquipmentForPortableHouse
Equipment (anEquipmentForPortableHouse)
LivingSpace (anEquipmentForPortableHouse)
House (anEquipmentForPortableHouse)
PortableHouse ()

Chair ()

Stool ()

Sofa ()
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Tent ()
End

(e)

Begin

equipment name = anEquipmentForPortableHouse
Equipment (anEquipmentForPortableHouse)
LivingSpace (anEquipmentForPortableHouse)
House (anEquipmentForPortableHouse)
PortableHouse () ‘

Chair ()

Stool ()

Sofal()

Tent (smallEgquipment)

End




